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AN EIESH
M SAESUek
&€ otdsE2 ES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 377,095 0 377,095
12JEEd=S 377,095 0 377,095
FolotSES M 2 306,875
-Foi0rdsSE FHE 2SH
77,500 *25H 150 290,625
-FoiOrdSE FHE 2tAH|
3,000 «25H » 150 11,250
-Foi0rdSE FHE LS
200,000& 259 5,000
o0t sSEHE EANXNY 23 5,720
SOOI S2FAHE SHXLAH UL 2|
10,0003 » 122 501 &= M *4 2] 2,400
RO SSFHME THAXNGRS 2]
74,0003 x50 & M *43] 1,480
-ROIMS 2 MY TAXNIEES =S4
& =uy 92,000& 54 = A *43] 1,840
SoHOIMESERHE OtZe|IIHXIEYE Bl E 64,500
-FolOrd S =M E ALHIA 2l bl
150,000& 1900t 2| x2H 57,000
-0t S =2 HE MEH
30,000& x2500t 2| 7,500
OlMEsS BES(EX) 400 0 400
< 120
Al 280
FHHMEsE 235 400 0 400
S 120
Al 280
301 P 400 0 400
< 120
Al 280
12JEEd= 400 0 400
SFHMESZ 018 50,000& *83] 400
= 120
Al 280
Ot == TloHole 136,000 0 136,000
< 2,700
Al 133,300
Ol SE maloly M(ExX) 9,000 0 9,000
< 2,700
Al 6,300
206 2 I 5,000 0 5,000
< 1,500
Al 3,500
01 MHZ 4l 5,000 0 5,000
SOt sE HoiZ2 A (1T M )X &
50,000& x100= Dt 5,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
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Al 3,500
301 et A= 4,000 0 4,000
== 1,200
Al 2,800
12 JIEtE2 A= 4,000 0 4,000
SHMEEZ 018t s&2 Hal24
1,000,000 x4= D} 4,000
& 1,200
Al 2,800
OFM=Z2 Hololer AFS (XA 127,000 0 127,000
206 M = Hl 15,000 0 15,000
01 XHZ H| 15,000 0 15,000
OfM=EZ2 Tod2H X
30,000& #2JH *250= Dt 15,000
301 et M= 112,000 0 112,000
12 JIEtE A= 112,000 0 112,000
OS2 TMolMEAIE EX XN& 2a=2
3,000,000& *30= Dt 90,000
OIMs=2 &2 HEAS
2,000,000& *10= Dt 20,000
Of=E= ldIol 242 1,000,000 x2H 2,000
MENH DSt M= € XALS 99,640 0 99, 640
= 36,500
& 10,950
Al 52,190
MEfH DSt M2 € XA 73,000 0 73,000
= 36,500
& 10,950
Al 25,550
101 Q124 H| 40,000 0 40,000
= 20,000
= 6,000
Al 14,000
04 JI2ZtHIZ22NEE S 40,000 0 40,000
MENH Wet M= EXIAFY  80,000&%5021%100L 40,000
= 20,000
o=} 6,000
Al 14,000
301 et M= 33,000 0 33,000
= 16,500
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Al 11,550
12 JIEtE2 A= 33,000 0 33,000
OFM S0 oHH &AL 3,000,000 *11= Dt 33,000
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Al 11,550
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101 2121 d| 26,640 0 26,640
04 JIZtHI2E2 NS E 26,640 0 26,640
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-Jl23 74,0003 4«25 x3& 22,200
-F=54 74,0003 x4H x4 2«3 3,552
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SEAAE2Z 2L AE ALY 2,672,977 0 2,672,977
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= 15,685
Al 776,385
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= 2,295
Al 5,355
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EX: sH3Es
A =M
Sl =MAT I8 RS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| | | DMK M2AIY &8 &9 50,000 104 500
SHHEE=E HH 2 3,463,271 2,272,820 1,190,451
= 1,870,050
= 271,905
Al 1,321,316
ol g2e 3,363,600 2,272,820 1,090,780
= 1,870,050
= 271,905
Al 1,221,645
ol Ed. =23 A 75,200 89,220 AN 14,020
201 LBt Y| 63,400 75,500 A 12,100
01 AP 22| H| 21,660 38,760 A 17,100
SHANE H4S L B2l
22,0002 x40 ~12& 960
ESHAQA=EZMAEH HAE=EE 200,000 =6CH 1,200
SAQIAD HH AIES= 4,000
StHAQHAA D (SISAILD) QE=E E Xl 1,000
SHHAHE=E ESHEH KA22H]
1,250,000%23| 2,500
QoI EAI| RXBel Y HELLE
3,000,000 *404 & 12,000
02 23244 41,740 36,740 5,000
SHEXE S22l
10,000, 000& *2CH+5,000, 000 1 CH 25,000
o1E=sdA dIlg ¥ ENE
800,000 x12& 9,600
OMSX &el0 8320 SAlg & NMIE
15,000 * 134 A x 12 2,340
ol 8o SAlg @ d)lg S
400,000& x12& 4,800
202 044l 11,800 11,800 0
01 2L Y| 11,800 11,800 0
s e e = 9,000
DIZIBIA A AR U NMIIKNSA SEA 22 2,800
SHARSA HSIIA HZAEE 3,130,000 1,600,000 1,530,000
= 1,790,000
= 248,400
Al 1,091,600
301 et A =2 1,920,000 1,600,000 320,000
= 1,152,000
& 230,400
Al 537,600
12 J|IEtE2 A= 1,920,000 1,600,000 320,000
LSASI ZIIH X XA
1,600,000 «1,200CH 1,920,000




SN BAESD
Bu: #doded Nyne
ool tiojegael (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,152,000
= 230,400
Al 537,600
402 RI2FX =01 M 1,210,000 0 1,210,000
= 638,000
< 18,000
Al 554,000
02 QI EAILEZ (01X S) 1,210,000 0 1,210,000
28Xt OPF 23 XA 3,800,000 *x200CH 760,000
= 380,000
Al 380,000
AAIH AT WA X3 AS
16,500,000 «20CH 330,000
= 198,000
Al 132,000
LPGXt st=2 Xt A X7 XA
4,000,000& »30CH 120,000
= 60,000
< 18,000
Al 42,000
A R3D sl=4H £X XA 6,800 0 6,800
= 4,250
< 765
Al 1,785
402 RI2FRt20l ™ 6,800 0 6,800
= 4,250
< 765
Al 1,785
02 PIZt X2 AL EZ (OIS ) 6,800 0 6,800
=R R3] al=4H £X NSASE
6,800,000% 104 & 6,800
= 4,250
< 765
Al 1,785
OIMSHX 22 BHE2 2ZA NA(ZH4EX) 151,600 183,600 A 32,000
= 75,800
< 22,740
Al 53,060
101 @14l 151,600 183,600 A 32,000
= 75,800
< 22,740
Al 53,060
04 JI12ZtHZ22HEE = 151,600 183,600 A32,000
OIMEHX 28 Hsd 2AXA
4J4 & +37,900,000& 151,600
= 75,800
< 22,740
Al 53,060
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S#Eg=d HF 2L
2rs 2aY SERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
TAS BaY 99,671 0 99,671
248 B43 XA 99,671 0 99,671
101 @124l 93,331 0 93,331
04 JIZHHZ2Z2XNSE+ 93,331 0 93,331
PASHAY EAD B g o 93,331
R 74,0003 x5 x160 59,200
== 74,0003 x5 32 11,840
-H Ot & 74,000 x5 8 2,960
-= &l 140,000 »5H +8& 5,600
- sl 50,000& x5 X »8& 2,000
-2 F Ol 500,000& x5 13 2,500
AN EE 84,100,000& *0. 109751 9,231
201 Let24E] 6,340 0 6,340
01 At 22l 2,340 0 2,340
PASBAY ASHMNANIAARE HAEY
130,000+6% *33l 2,340
02 2324l 4,000 0 4,000
TASELY Bad2d A4S QU2 €S 4,000
HHE MEEFH 10,081,361 9,718,335 363,026
= 103,930
< 228,351
Al 9,749,080
Az 3,047,752 3,176,099 A 128,347
< 132,270
Al 2,915,482
MEHIE A22AE 2F A& 2,400,000 2,800,000 A400,000
307 21201 A 2,400,000 2,800,000 400,000
05 RIZt2IEt = 2,400,000 2,800,000 A400,000
MEHIIES 2242 29 AEH| 2,400,000
Hilg+H ¥ NAS(EX) 1,700 0 1,700
< 510
Al 1,190
201 Let24dH] 1,700 0 1,700
= 510
Al 1,190
01 At 22l 1,700 0 1,700
Hsxs =H &2 1,700
< 510
Al 1,190
2AS =Y F e 57,985 52,000 5,985
101 @124 dl 57,985 52,000 5,985




2H: BEESDY
M YN MBHY
el Haael CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
04 JIZtHIZ2E2XNSE S 57,985 52,000 5,985
SMES L YUIH S F=H HA2 57,985
-JlE2 74,000& x5 100 37,000
- FEY 74 ,000& x5 x20F= 7,400
-Ei=g 74,000 x5 «5& 1,850
- = &l 140,000& *5H 58 3,500
- W EH| 50,000 x5H «5& 1,250
- ELL 50,000& x5 52 1,250
-4HE2EEg & 52,250,000& *0. 109751 5,735
HA WESS 22 321,811 294,799 27,012
101 @121 | 296,881 269,949 26,932
04 JI2ZtH 22 XNEE S 296,881 269,949 26,932
HA ME2EE 2 296,881
-JleE= 74,000 «80L x32H 189,440
- =524 74,0003 163 *32H 37,888
- e 74 ,000& 42 »32H 9,472
==l 140,000& x4 & »32H 17,920
- WE4| 50,000& x4 & «»32H 6,400
- /Esg 50,000& x4& «32H 6,400
- 428 = 267,520,000& *0.109751 29,361
201 et A bl 9,930 12,850 N 2,920
01 At 22l bl 5,000 7,920 N 2,920
tlgdAs Y HEES HAES FY 5,000
02 332494l 4,930 4,930 0
SHZB0ITE FHEY MRS 300,000& ~12& 3,600
SE0IsA SHE Saz 35,0008 x12& 420
SHZ0ISd FHA &ot+=E AMEZ
50,000& x12& 600
SHZE0ISE FAHE D] L=
25,800& x12& 310
202 044 9,000 12,000 A 3,000
01 2L Y| 9,000 12,000 A 3,000
HIIS 2HA(BHED, A2, HE, & S) =
2o | 1,500,000& ~6H 9,000
405 KHo&HFE S HI 6,000 0 6,000
01 JHAHE 2 Z 5 S H 6,000 0 6,000
T2 S Mg HAI| 2L
600,000& = 10CH 6,000
EEL =T L] 266,256 0 266,256
== 131,760
Al 134,496




AN EIESH
M NG MBE
chelr ®aze cHol A E)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Le-2d| 22,236 0 22,236
< 9,750
Al 12,486
01 At 22l 22,236 0 22,236
ALY B4 Y HZEES 5 P2E 22,236
< 9,750
Al 12,486
206 M= Hl 49,500 0 49,500
< 24,750
Al 24,750
01 MHZ 4l 49,500 0 49,500
WEEE 22400 L MBHIIS 28
& 49,500
= 24,750
Al 24,750
307 QI2+0 & 194,520 0 194,520
< 97,260
Al 97,260
05 RIZt2IE = 194,520 0 194,520
dotMg Dl 28, el 73,920
< 36,960
Al 36,960
gZzelgd 23 120,600
—HP el (YeH/HY) 50,600
< 25,300
Al 25,300
-2l (Let/F=5 &) 11,000
< 5,500
Al 5,500
@l (YeEy) 36,300
< 18,150
Al 18,150
-QLE 7Y 220
< 110
Al 110
-AlH| (2HA 2 &) 7,480
< 3,740
Al 3,740
-HAEZ FE 15,000
< 7,500
Al 7,500
o2 22 5,997,267 5,452,560 544,707
2 103,930
< 85,131
Al 5,808,206
HOISHEE XMl 407,600 365,600 42,000
201 Let24E] 262,600 292,600 A 30,000




2H: BEESDY
M YN MBHY
el HolZ 22 (29l 8)
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